	Question 1


Directions: Each passage in this section is followed by questions based on its contents. Read the passage carefully and then answer the questions given below them by choosing the best answer to each question. Answer the questions on the basis of what is stated or implied in the passage.                                                                          PASSAGE-I Environmental protection and management is deservedly attracting a lot of attention these days. This is a desirable development in the face of the alarming rate of natural resource degradation which greatly hampers their optional utilization. When waste waters emanating from municipal sewage, industrial effluent, agricultural and hand runoffs, find their way either to ground water reservoirs or other surface water sources, the quality of water deteriorates, rendering it unfit for use. The natual balance is disturbed when concentrated discharges of waste water is not controlled. This is because the cleansing forces of nature cannot do their job in proportion to the production of filthy matter.According to the National Environment Engineering and Research Institute (NEERI), a staggering 70 percent of water available in the country is polluted. According to the planning Commission: “From the Dal lake in the North to the Periyar and Chaliyar rivers in the South, from Damodar and Hoogly in the East to the Thane creek in the west, the picture of water pollution is uniformly gloomy. Even our large perennial rivers, like the Ganga, are today heavily polluted”.According to one study, all the 14 major rivers of India are highly polluted. Besides the Ganga, these rivers include the Yamuna, Narmada, Godavari, Krishna and Cauvery. These rivers carry 85 percent of the surface runoff and their drainage basins over 73 percent of the country. The pollution of the much revered Ganga is due in particular to municipal sewage that accounts for 3/4th of its pollution load. Despite India having legislation on water pollution (the water (Prevention and Control of pollution) Act, 1974) and various water pollution control boards, rivers have today become synonymous with drains and sewers.Untreated community wastes discharged into water courses from human settlements account for four times as much waste water as industrial effluent. Out of India’s 3,119 towns and cities, only 217 have partial (209) or full (8) sewerage treatment facilities and cover less than a third of the urban population. Statistics from a report of the Central Board for Prevention and Control of Water pollution reveal that 1,700 of 2,700 water using industries in India, are polluting the water around their factories. Only 160 industries have waste water treatment plants. One estimate suggests that the volume of waste water of industrial origin will be comparable to that of domestic sewage in India by 2000 A.D. Discharges from agricultural fields which carry fertilizing ingredients of nitrogen, phosphorous and pesticides are expected to be three times as much as domestic sewage. By that date, thermal pollution generated by discharges from thermal power plants will be the largest in volume.Toxic effluents deplete the levels of oxygen in the rivers, endanger all aquatic life and render water absolutely unfit for human consumption, apart from affecting industrial production. Sometimes these effects have been disastrous. A recent study reveals that the water of the Ganga, Yamuna, kali and Hindon rivers have considerable concentrations of heavy metals due to inflow of industrial wastes, which pose a serious health hazard to the millions living on their banks. Similarly, the Cauvery and Kapila rivers in Karnataka have been found to contain metal pollution which threaten the health of people in riverine towns. The Pariyar, the largest river of Kerala, receives extremely toxic effluent that result in high incidence of skin problems and fish killing. The Godavari of Andhra Pradesh and the Damodar and Hoogly in West Bengal receive untreated industrial toxic wastes. A high level of pollution had been found in the Yamuna, while the Chambal of Rajasthan is considered the most polluted river in Rajasthan is considered the most polluted river in Rajasthan. Even in industrially backward Orissa, the Rushikula river is extremely polluted. The fate of the Krishna in Andhra Pradesh, the Tungabhadra in Karnataka, the Chaliyar in Kerala, the Gomiti in U.P. the Narmada in M.P. and the Sone and the Subamarekha rivers in Bihar is no different.According to the W.H.O. eighty percent of diseases prevalent in India are water-borne, many of them assume epidemic proportions. The prevalence of these diseases heighten under conditions of drought. It is also estimated that India loses as many as 73 million mandays every year due to water borne diseases, costing R.s. 600 crores by way of treatment expenditure and production losses. Management of water resources with respect to their quality also assumes greater importance especially when the country can no more afford to waste water.The recent Clean-the Ganga project with an action plan estimated to cost the exchequer R.s. 250 crores (which has been accorded top priority) is a trend setter in achieving this goal. The action plan evoked such great interest that offers of assistance have been received from France, U.K, U.S and the Netherlands as also the World Bank. This is indeed laudable. Poland too has now joined this list. The very fact that these countries have volunteered themselves to contribute their mite is a healthy reflection of global concern over growing environmental degradation and the readiness of the international community to participate in what is a truly formidable task. It may be recalled that the task of cleansing the Ganga along the Rishikesh-Haridwar stretch under the first phase of the Ganga Action plan has been completed and the results are reported to be encouraging.The crisis of drinking water is deepening because water resources are drying up and the lowering of ground water through overpumping. These factors increase the magnitude of the problem. An assessment of the progress achieved by the end of March 1985, on completion of the first phase of the International Drinking Water supply and Sanitation Decade (1981-91), revealed that drinking water has been made available to 73 percent of the urban population and 56 percent of the rural population only. This meant that nearly half the country’s rural population has to get drinking water facilities. The foremost action in this would be to clean up our water resources.As per surveys conducted by the NEERI, per capita drinking water losses in different cities in the country range between 11,000 to 31,000 litres annually. This indicates a waste level of 20-35 per cent of the total flow of water in the distribution system primarily due to leaks in mains and household service pipes. Preventive maintenance programme would substantially reduce losses/wastages and would certainly go a long way in solving the problem.QUESTIONS: The degradation of natural resources will necessarily lead to                   
	A
	Poor economic utilization of resources

	B
	Contamination of water from municipal sewage

	C
	Water unfit for human consumption

	D
	Heightened drought conditions

	E
	None of the above

	Question 2


According to NEERI                   
	A
	The extent of water pollution in the Dal Lake is grim

	B
	Seventy percent of total water available in the country is polluted

	C
	Only 217 out of 3119 towns and cities have sewage treatment facilities

	D
	All the 14 major rivers of India are highly polluted

	E
	1700 to 2700 water using industries are polluting the water around the industries.


	Question 3


Municipal sewage pollutants account for                        
	A
	The lowest percentage of water pollution

	B
	Seventy five percent of the Ganga’s water pollution load

	C
	Twice the volume of the waste water of industrial origin

	D
	Three times as much as the discharge from agricultural fields

	E
	The highest percentage of water pollution

	Question 4


Which of the following statements is correct?                 
	A
	The river Periyar is in South India

	B
	The river Periyar is the largest river of Kerala

	C
	The river Gomiti is also extremely polluted

	D
	The river Cauvery has been found to contain metal pollution

	E
	All of the above are correct.


	Question 5


The cost of the Clean-the-Ganga pollution project Action Plan is likely to be sourced from                  
	A
	The Indian Exchequer

	B
	France, U.K., U.S., and the Netherlands

	C
	The World Bank, Polant, U.K.

	D
	The Indian Exchequer and the World Bank

	E
	The U.S, U.K., Netherlands, Poland, France the World Bank and India

	Question 6


Which of the following statements made by the WHO is correct?                     
	A
	Water-borne diseases account for eighty percent of all diseases prevalent in India

	B
	Water-borne diseases in India create a loss of Rs.600 crores every year

	C
	Both 1 and 2 are correct

	D
	Per capita drinking water losses in different cities in the country range between 11,000 and 31,000 litres annually

	E
	None of the above.


	Question 7


Considerable amounts of metal pollutants are found in the river(s)                       
	A
	Chambal of Rajasthan

	B
	Rushikula in Orissa

	C
	Damodar, Hoogly, Krishna and Gomiti

	D
	Ganga, Yamuna, Kali, Hindon, Cauvery and Kapila

	E
	Cauvery and Kapila rivers in Karnataka

	Question 8


The crisis of drinking water is caused chiefly by                      
	A
	The green house effect

	B
	Water pollution caused by industrial development

	C
	Drying up of water sources and over pumping

	D
	Increasing urbanization

	E
	Population explosion


	Question 9


The best remedy for water shortage lies in                        
	A
	Putting up more pumps in rural areas

	B
	Cleaning up polluted water

	C
	Reducing the waste level of 25-30 percent of the total flow of water

	D
	Constructing large sized dams

	E
	Government policies towards pollution control

	Question 10

WRONG


An assessment of progress by March 1985 on completion of the first phase of the International Drinking Water Supply and Sanitation revealed                 
	A
	Drinking water was made available to 73% urban and 56% rural population

	B
	Water losses through water distribution was 20-35%

	C
	Preventive maintenance has to be geared up for drinking water distribution losses

	D
	Rivers have to be cleaned up

	
	Environmental degradation is the major concern of the country for the next decade


	Question 11


                                                                           PASSAGE-II Consumers, on the whole, are not an easy group to figure out. Their mood sobers with each mounting step of inflation, but at the same time consumer spending continues to increase – a sign of recovery and a paradox. Retail sales are up, and national savings have gone down by half a percentage point. Consumers’ taste runs toward the luxurious, while they complain about the high cost of living. Top-of-the-line cars are selling better than ever. A large, well-known Honda dealer says sales of the Rs. 10 lakh Honda City have doubled in the past year. Consumer watchers seem to have a hint of what is going on, and they are not at all reassured by their findings. A pattern is developing here that for a long time has been prominent in Europe-instead of paying more later, consumers are preferring to buy now as a hedge against the future. In the past, inflation has generally led to a cutback in consumer spending, giving them a chance to refortify the real value of their liquid assets. Now, however, they are putting their money into hard assets-houses, cars, bonds, or simply cash. Art, precious jewellery, and the like are being grabbed up, but with borrowed funds obtained, not from loans, but from second mortgages and margin accounts at brokerage houses. The use of these nontraditional sources if not so surprising when one realizes that the interest rate is lower than on consumer loans, enabling the borrower to pay the loan back in cheaper rupees during inflation. There are numerous surveys that measure and chart consumer trends and sentiment. Because their methods, and hence the questions they ask, are different, the results are not always quite the same. Whereas one group notes a dramatic drop in buying plans, another indicates a positive attitude toward buying now. The general feeling of all the groups is that there has been an all-around drop in confidence, prompted by the inflation speedup. If consumers are feeling more cautious, they have not yet demonstrated this feeling in the marketplace. Buy now seems to be the prevalent attitude. This is eveident in car sales, and the automobile manufacturers are baiting the buyers with small, sporadic increases of 1 percent or so instead of hitting them all at once with huge price hikes for last fall’s new models. The upper end of the department store market is doing well. The rich are investing their rupees in quality merchandise, realizing that a Rs. 30,000 coat today will most likely cost Rs. 40,000 next year. The emphasis is on quality, not quantity. A woman will get more use out of one good handbag than two less expensive ones. Men are apt to buy one high-priced suit, with the intention of wearing it for a couple of extra occasions, instead of having several suits of poorer quality. Wearing apparel is being looked at as an investment. If the quality, higher-priced end of the retail trade can paint a relatively rosy picture, the same does not hold true for the “low end” of the business. Discount store sales are down from year ago. There is no hedge against inflation in this end of the retail market. Although some retailers at this less cheery end of the business are trying to cash in on the better-quality trend by changing their image, most are fearful that the rush now will result in drastic cutbacks later on. The growth of debt, relative to income, has been rapid, and there will have to be a slowdown somewhere along the line. The burden of debt on the individual household is a matter of concern and constant study for economists. To measure this burden, they look at the ratio of repayment on installment debt to after-tax (disposable) income. The ratio at present is 15 percent, which is no cause for alarm, since the norm ranges somewhere between 14 percent and 16 percent. Consumer debt patterns have changed somewhat, however, and this may indicate a difference in the way in which a family judges its credit burdens. Not included in this ratio are loans that have been stretched out to ease the monthly burden-car loans that mature in four years as opposed to the two-or three-year loans of the past. And as interest rates continually creep upward, consumer credit will be tightened. Debt has allowed the consumer to cruise along in a recovery manner, but the squeeze is on. Consumer credit seems to be only part of the problem, according to Data Info, a New England organization specializing in econometric forecasting. Data Info feels that discretionary income-what is left over after taxes for buying household necessities such as food-is the real source of concern. One expert at this New England shop says that when the tremendous employment gains of recent years begin to diminish, there will be a slowdown in the rise of real income. People will be pushed into higher tax brackets, even if the breadwinner’s income keeps up with rising prices. To illustrate the decline in discretionary income, we can use the following data: Between 2002 and 2007, cash income per household increased 42.2 percent (in today’s rupees). During, that same time period, inflation went up 40.7 percent. It seems that the household is just a jump ahead of inflation, but such is not the case, because, also in that time period, there was a 65.3 percent increase in the average tax bill, and the cost of necessary items in the consumer market basket rose 43.8 percent. So, in the end, the amount left for extras, or the discretionary income, went up only 30.7 percent, hardly enough to keep pace with inflation. What with inflation both giving impetus to the buy-now attitude and gnawing away at discretionary income, and with consumer credit rapidly approaching its limits, we may be in for a shift in the economy. Producers are building up their inventories in anticipation of increased consumer spending, but the consumer is, at the same time, keeping a watchful eye on inflation while stocking up. Sooner or later the consumer will have to cut down on spending, and retailers and producers will be left holding inventories. But for the time being, consumers continue to buy ahead and thus fatten the retail purse. Producers are watching their inventories closely, and, according to industry observers, the trend of buying in advance has a long way to go before we reach the boom-and-bust crisis. QUESTIONS:        The passage is primarily concerned with      
	A
	Consumers buying luxury items

	B
	Consumer’s concern over inflation

	C
	The tightening of consumer credit

	D
	Consumer spending now as a hedge against the future

	E
	Consumers buying quality clothing as an investment

	Question 12


Which of the following is (are) true about consumer survey organizations? I. they accurately measure consumer behaviour and sentiment II. They are controlled by the government III. They use different methods but attain the same results IV. They ask different questions of consumers V. only consumer attitudes toward spending are measured.                      
	A
	II, III, and IV only

	B
	I, IV, and V only

	C
	IV only

	D
	III only

	E
	II and IV only


	Question 13


According to the passage, which statement best describes consumer attitudes at present?                      
	A
	Consumers are cautious but are continuing to buy

	B
	Consumers are buying more expensive, high-quality goods

	C
	Consumers think expensive clothes are a good investment

	D
	Consumers feel the economy is going through a recovery period

	E
	Consumers feel it is safer to build up a lot of debt now instead of later.

	Question 14


Over a period of time, if the same trend continues in future                      
	A
	Consumer credit period will be shortened

	B
	People will be pushed into higher tax brackets, even if the income keeps increasing with rising price

	C
	Drastic cut in income

	D
	Lowering the quality of goods

	E
	Proliferation of finance companies


	Question 15


According to the passage, which of the following is true about consumer loans? I. they are a traditional source of money II. The interest rate if higher than on other sources of borrowing III. They are the easiest way to borrow money IV. They will cost the consumer more in the long run                      
	A
	I and II only

	B
	I, II and III only

	C
	I, II and IV only

	D
	II and IV only

	E
	All of the above

	Question 16


Disposable income can be defined as                          
	A
	Income the consumer does not care how he or she spends

	B
	Income spent on luxuries

	C
	After-tax-income

	D
	Income spent on nondurable goods

	E
	None of the above


	Question 17


The passage implies which of the following about consumer debt? I. debt patterns are changing II. Debt payments are being stretched out to give the consumer extra money III. Consumers are fearful of getting deeper in debt IV. Debt burden is measured by looking at the number of installments relative to disposable income                      
	A
	I, II and III only

	B
	I and II only

	C
	I, II and IV only

	D
	I and IV only

	E
	All of the above

	Question 18


The author defines discretionary income as                     
	A
	After-tax income

	B
	Income spent on food

	C
	Income left after taxes for buying household necessities

	D
	Money spendt as the consumer wishes to do so

	E
	Invested income


	Question 19


Discretionary income, on the average, is what part of total income?                    
	A
	15-16 percent

	B
	30.7 percent

	C
	40.7 percent

	D
	Half of after-tax income

	E
	Cannot be determined from the information provided in the passage

	Question 20


According to the passage, which of the following can be said about the author’s feeling toward consumer spending?                    
	A
	Consumers will cut down sharply on spending

	B
	Heavy consumer spending has caused producers to build up their inventories unwisely

	C
	The current spending trend will continue for some time before reaching crisis proportions

	D
	Current spending will cause a sudden, sharp shift in the economy

	E
	All of the above


	Question 21


What is the largest number which when divides 2274, 2061 and 1054 leaves remainder 6, 3, and 4 respectively.                 
	A
	6

	B
	14

	C
	42

	D
	60

	E
	21

	Question 22


A man spends 75% of his income and saves the remaining. His income increases by 20% and expenditure by 10%. The increase in savings is                  
	A
	35%

	B
	371/2%

	C
	50%

	D
	60%

	E
	40%


	Question 23


Rs. 1500 was partly lent at 5% SI and the remaining at 8% SI p.a. so that the interest received from both the parts was Rs. 90 in a year. Then the amount lent at 5% will be                   
	A
	Rs. 500

	B
	R.s 750

	C
	R.s 1000

	D
	R.s 1,250

	E
	R.s 1,500

	Question 24


Divide Rs. 760 among 4 men, 2 women, and 5 children so that each man may have double the share of a woman and each women may have three times the share of a child. The share of 1 child is                   
	A
	Rs. 50

	B
	Rs. 20

	C
	Rs. 120

	D
	Rs. 60

	E
	Rs. 70


	Question 25


A dishonest shopkeeper deceives by 25% at the time of purchase and 20% at the time of sale of articles. The percentage of his profit is                      
	A
	50

	B
	40

	C
	45

	D
	5

	E
	30

	Question 26


Six years ago in a state park the deer outnumbered the foxes by 80. Since then, the number of deer has doubled and the number of foxes has increased by 20. If there are now a total of 240 deer and foxes in the park, how many foxes were there six years ago?               
	A
	10

	B
	20

	C
	30

	D
	40

	E
	100


	Question 27


A father can do a certain job in x hours. His son takes twice as long to do the job. Working together, they can do the job in 6 hours. How many hours does it take the father to do the job? 
	A
	9

	B
	18

	C
	12

	D
	20

	E
	16

	Question 28


If two fractions, each of which has a value between 0 and 1, are multiplied together, the product will be  
	A
	always greater than either of the original fractions

	B
	always less than either of the original fractions

	C
	sometimes greater and sometimes less than either of the original fractions

	D
	remains the same

	E
	never less than either of the original fractions


	Question 29


A train travels at an average speed of 20 mph through urban areas, 50 mph through suburban areas, and 75 mph through rural areas. If a trip consists of travelling half an hour through urban areas, 31/2 hours through suburban areas, and 3 hours through rural areas, then the train’s average speed for the entire trip is                 
	A
	50 mph

	B
	53 2/7 mph

	C
	54 3/7 mhp

	D
	58 4/7 mhp

	E
	59 2/7 mhp

	Question 30


If x is less than 2, which of the following statements are always true?I. x is negative II. x is positive III. 2x is greater than or equal to x IV. x2 is greater than or equal to x  
	A
	III only

	B
	IV only

	C
	I and III only

	D
	I, III and IV only

	E
	None of the above


	Question 31


An angle of x degrees has the property that its complement is equal to 1/6 of its supplement where x is  
	A
	30

	B
	45

	C
	60

	D
	63

	E
	72

	Question 32


If hose A can fill up a tank in 20 minutes, and hose B can fill up the same tank in 15 minutes, how long will it take for the hoses together to fill up the tank?                
	A
	5 minutes

	B
	7 ½ minutes

	C
	8 4/7 minutes

	D
	9 2/7 minutes

	E
	12 minutes


	Question 33


                                                                   Directions: In each of the following sentences four words or phrases have been underlined. Only one underlined part in each sentence is not acceptable in standard English. Pick up that part-(1) or (2) or (3) or (4). If there is no mistake mark (5). If I would have worked regularly I would have passed the examination No error. _______1                            2                                   3                                4                      ___5 

	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 34


The teacher asked the student if everyone of them were ready to attend practical class________1                              2                                                  3                                              4every day. No error. __________5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 35


The daughter parted with her mother with tears but the journey to delhi amused her. No error. _________1                             2                                       3                                             ___4                       __5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 36


People who are not belonging to any party are called independent. No error._____1                              2                           3                           4                              ___5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 37


Had I known you were coming I would stay at home. No error. _____1                   2               3                      __4                               5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 38


The company not only manufactures leather good but also plastic ware. No error.________________1                                             2                  3                  _4                  5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 39


I must find out some means of balancing my budget. No error. ______1                        2                     _3                   __4                5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 40


Before you enter the temple you should take out your shoes. No error._____1                         2                         3                              4                      __5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 41


No boy in his son’s class is as bright as his son. No error. ___1                    2                          _3              _4                   5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 42


The heir of the throne was free from physical and moral taint. No error.________1                                 2                            __3                     _4            _5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 43


They used to laugh whenever their teacher spoke. No error. _____1                         2                        ___3                4            _5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 44


I cannot explain why does she not study as hard now as she used to before. No error._______1                                 2                                 __3                              __4                            5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 45


It would be interesting knowing whether this is true. No error. ____1                        2               3                         __4                         5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 46


If the tourist would have come here I would certainly have taken them around. No error._____1                              2                                            3                                  _____4                         5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 47


As soon as the peon rings the first bell all the student assemble on the playground. No error. _______________1                                     2                      __3                                   4                       __5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 48


I would have asked you for dinner if I had known that you are staying here to night. No error. _____________1                                              2                                          3                        ___4           5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 49


If this man would not have been poor he would not have worked so hard. No error._____1                                      2                                      3                             __4                     _5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 50


He visited the battlefield where Napoleon was defeated in his holidays. No error.___________1                                  2                             _3                       4                     __5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)


	Question 51


He always practices the justice and cares for moral principles. No error. ____1                  2                  3                                   4                                _____5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	(5)

	Question 52


Most of the critics, all over the world agree that this is one of the most interesting novelsthat                                                  1                                                                    2                                  ___3 has recently appeared. No error. __________4                          5 
	A
	(1)

	B
	(2)

	C
	(3)

	D
	(4)

	E
	


